Python 3

[1o moTuBam Python Tips, Tricks, and Hacks



* YeTblpe BMaOa KaBblYekK

print ("""l wish that I'd never heard him say, "'She said, "He said, 'Give me five
dollars™"™" )

*[lpoBepka Ha True

my_object = "Test' # True example
# my_object = " # False example

if len(my_object) = 0:
print (‘'my_object is not empty’)

if len(my_object): # 0 will evaluate to False
print (‘'my_object is not empty"’)

if my_object I=
print (‘'my_object is not empty"’)

if my_object: # an empty string will evaluate to False
print (‘'my_object is not empty")

* [lpoBepKa NoaCTPOKK

string = 'Hi there' # True example string = 'Hi there' # True example
# string = 'Good bye' # False example # string = 'Good bye' # False example
if string.find("Hi") I= -1 if 'HI in string:

L "
print ('Success!") print (Success!’)



 [leneHune B Python 2 1 Python 3

5/2 # Returns 2 5/2 # Returns 2.5
5.0/2 # Returns 2.5 5.0/2 # Returns 2.5
(5)/2 # Returns 2.5 (5)/2 # Returns 2.5
5//2 # Returns 2 5//2 # Returns 2

* Lambda doyHKLMN

def add(a,b): return atb

add2 = lambda a,b: atb
squares = map(lambda a: a*a, [1,2,3,4,5])

# squares is now [1,4,9,16,25]]
#In real <map object at Ox7fa230383080>

* lterator Type and Generators

container. _iter () Generator functions use yield

#Return an iterator object express ion
_ _ def city_generator():
iterator.__iter () yield("London")

#Return the iterator object itself

yield("Hamburg")
iterator.__next_ () yield("Konstanz")

H n 1]
#Return the next item from the container. y!eld("Ams.te”rdam )
If there are no further items, raise the Stoplteration exception. yield("Berlin")

yield("Zurich")
yield("Schaffhausen")

wviald ("<t i++aart")



Cnuckun, Comprehensions, onepauum map u filter

numbers = [1,2,3,4,5]

squares = []
for number in numbers:

squares.append(number*number)
# Now, squares should have [1,4,9,16,25]

numbers = [1,2,3,4,5]

numbers_under_4 =[]
for number in numbers:

if number < 4:

numbers_under_4.append(number)
# Now, numbers_under_4 contains [1,4,9]

numbers = [1,2,3,4,5]

— * -
squares — [number number for number in numbers]
# Now, squares should have [1,4,9,16,25]

numbers = [1,2,3,4,5]

numbers = [1,2,3,4,5]

numbers_under_4 = filter(lambda x: x < 4, numbers)
# Now, numbers_under_4 contains [1,2,3]

numbers = [1,2,3,4,5]

_— *
squares — map(lambda x: x x, numbers)
# Now, squares should have [1,4,9,16,25]

numbers_under_4 = [number for number in numbers if number < 4]

# Now, numbers_under_4 contains [1,2,3]



BblpaXkeHna-reHepaTtopbl

numbers = (1,2,3,4,5) # Since we're going for efficiency, I'm using a tuple instead of a list ;)
squares_under_10 = (number*number for number in numbers if number”number < 10)
# squares_under_10 is now a generator object, from which each successive value can be gotten by calling .next()

for square in squares_under_10:
print(square)
#prints'149'

for xin (0,1,2,3):
foryin (0,1,2,3):

ifx <vy:
print ((x, y, X'y),)

# prints (0, 1, 0) (0, 2, 0) (0, 3, 0) (1, 2, 2) (1, 3, 3) (2, 3, 6)

print([(x, y, x * y) for x in (0,1,2,3) for y in (0,1,2,3) if x < y])
# prints [(0, 1, 0), (0, 2, 0), (0, 3,0), (1, 2, 2), (1, 3, 3), (2, 3, 6)]



CnoBapu n Dict Comprehensions

dict(a=1, b=2, c=3)
#returns {'a" 1, 'b" 2, 'c": 3}

dictionary = {'a": 1, 'b": 2, 'c": 3}
dict_as_list = dictionary.items()
#dict_as_list now contains [(‘a’, 1), (b, 2), (‘'c’, 3)]

dict_as_list = [['a’, 1], ['b', 2], ['c', 3]]

dictionary = dict(dict_as_list)
# dictionary now contains {'a’: 1, 'b": 2, 'c": 3}

dict_as_list = [['a’, 1], ['b', 2], ['c, 3]]

dictionary = dict(dict_as_list, d=4, e=5)

# dictionary now contains {'a": 1, 'b": 2, 'c: 3, 'd": 4, 'e": 5}

emails = {'Dick’: 'bob@example.com’, 'Jane": 'jane@example.com’, 'Stou’: 'stou@example.net’}

email_at_dotcom = dict( [name, ".com' in email] for name, email in emails.iteritems() )
# email_at_dotcom now is {'Dick’: True, 'Jane’: True, 'Stou’: False}

email_at_dotcom = { name: ".com’ in email for name, email in emails.iteritems() }



BbiOoOp 3Ha4YeHUI B Bblpa)KEHUM

test = True
# test = False

result = 'Test is True' if test else 'Test is False'
# result is now 'Test is True'

test1 = False
test2 = True

result = 'Testl is True' if test1 else 'Testl is False, test? is True' if test2 else 'Testl and Test2 are both False'

test = True
# test = False

result = test and 'Test is True' or 'Test is False'
# result is now 'Test is True'

test = True
# test = False

result = [Test is False','Test is True'][test]
# result is now 'Test is True'



CDyHKLI,I/II/I N 3HA4YEHUA MO YMOJTHaHNIO

def function(item, stuff = []):
stuff.append(item)
print(stuff)

function(1)
# prints [1]'

function(2)
# prints '[1,2]" 1!

def function(item, stuff = None):
if stuff is None:

stuff = []
stuff.append(item)
print(stuff)

function(1)
# prints [1]'

function(2)
# prints '[2]', as expected



(DyHKLI,I/II/I C nepemMeHHbIM YNCJ1IOM MapaMeTPOB

def do_something(a, b, c, *args):
print(a, b, c, args)

do_something(1,2,3,4,5,6,7,8,9)
#prints'1, 2,3, (4,5,6,7, 8 9)

def do_something_else(a, b, c, *args, **kwargs):
print(a, b, c, args, kwargs)

do_something_else(1,2,3,4,5,6,7,8,9, timeout=1.5)
#prints'1, 2,3, (4, 5, 6, 7, 8, 9), {"timeout": 1.5}’

args = [5,2]

pow(*args)
# returns pow(5,2), meaning 52 which is 25

def do_something(actually_do_something=True, print_a_bunch_of numbers=False):

if actually_do_something:
print('Something has been done)
#
if print_a_bunch_of numbers:
print(range(10))

kwargs = {'actually_do_something': True, 'print_a_bunch_of numbers': True}

do_something(**kwargs)

# prints 'Something has been done’, then '[0, 1, 2, 3, 4, 5, 6, 7, 8, 9]'



Set U Frozen set

HeynopsagoveHHbIM HABOP YHUKASbHbBIX 3HAYEHUN,
TaK e Kak crioBapb npeacrasnaeT cobomn
HeynopsaaoveHHbIM Habop nap Kntod / 3HadeHne.

DyHKUNK
npeobpa3oBaHus
set(x) cO3aeT MHOXeCTBO, coepXaLlee arnemMeHThI

Konnekumnm X
frozenset(x) cosgaeTr HEM3MEHHOE MHOXECTBO, COAepXKallee aNeMeHThbI

Konnekunn X

>>> Set((1, 2, 3, 4)) #
case 1 . .
MHUUManmn3aTop NpUHMMaeT eAUHCTBEHHbIV NTepupyemMbin

1, 2, 3, 4
case aprymeHT

set(x**2 for x in

S) co3gaeT MHOXKECTBO, coeprKallee KBaapaTtbl BCEX J1IEMEHTOB

n3s



Set U Frozen set

T npeacTaenseT coboi Npoxop Mo anemMeHTaM S B NPON3BONbHOM
nopsiake
if "a" in S: NPOBEpPSIET BXOXAEHNE BO
MHOXeCTBO
OnepaTtop
| o6beguHeHune

& nepeceyeHue

A CMMMeETpUYEecKasd pasHOCTb

- acuMMeTpuyeckass pasHoOCTb

== |= NpoBepKM paBeHCTBA W HepaBeHCTBa

< <= >= > NPOBEPKM Ha NOOMHOXECTBO N CYMNEPMHOXECTBO



Set U Frozen set

MeToabl

len(S)

S
S
S
S
S
S
S

.add(x)
.update(s)
.remove(x)
discard(x)
-pop()
.clear()
.copy ()
.issuperset(S)
.issubset(S)
.isdisjoint(S)

BO3BpaLlaeT Konn4ecTtBo 3JIEMEHTOB BO

MHOXeCTBe
O00aBIAdAeT X BO

MHEXXECTBO
000aBI4deT BCe aremMeHTbl nocrneaoBaTeribHOCTU s BO

MHOXEeCTBO
vyoander X N3 MHOXXeCTBa (ecrnn x He cywiecTtByeT BO MHOXXeCTBE, TO Bbl3blIBA€TCA

LookuﬂpErrolr)
yoansgeTt X U3 MHOXeCTBa (ecrnu X He CyLeCTBYeT BO MHOXECTBE — HUYero He

ernaer o
g‘blTaﬂK,/lBaeT NPOU3BOSbHbIN 3fIEMEHT (Bbl3blBaeT LookupError eCcri 3fieMeHT He

CyLlEecTB eTg
yhanseT BCE 9NeMeHThbI U3

MHOXeCTBa
co3aeT HoBOE

MHO>XECTBO
npoBepsEeT, ABNAeTCA nn S

C negMHomeCTBOMs
NPOBEpPSAET, ABNAETCA JIn S

NOOMHOXXECTBOM s
BO3BpaLlaeT True, eCIM MHOXECTBO s HE UMeeT ObLLIMX

3NeMeHTOB C S



View object

Npesa — nameHnTb metoasbl .keys(), .values() and .items() Tak,
4TOOBbI OHM BO3BpaLLanm bonee rnerkoBeCHbl 0ObEKT, YEM
NNCT N, TEM CaMbIM, N30aBUTLCHA OT METOAOB .iterkeys(),
.itervalues() and .iteritems().

Python 2.x Python 3.x

for k, v in d.iteritems(): for k, v in d.items():

a = d.keys() a = list(d.keys())



View object
[1Ba

nyTn...
keys(), .values() n .items()

BO3BpaLLaloT UTepaTop,
aHaIOrMYHO TOMY, KaK 3TO
nenanwu .iterkeys(),
.itervalues() u .iteritems() B
Python 2.x

A MOXXHO npogonxaTb

ncnosr:- -~~~
a = d.items()

for k, v in a:
# And later, again:

for k, v in a:

Bonee xopoLunin n AENCTBYOLLUI
cenyac

MeTObl BO3BPALLAOT 06BbEKTHI, MOA0OHbIE
MHOXecTBY ==set (ans .keys() n .items())

NN MYNIBTUMHOXeCTBY == bag (gns .values()),
KOTOpble He cogepxaT konuu keys, values nnum
items, BMeCTO 3TOro CCbl/1atoTCA Ha UCXOAHbIN
cnoBapb 1 6epyT 3HaYeHMs U3 CNoBapsa No Mepe
HeobxoanMoCTH

|4()113ﬂ€ﬂ3b'TaKDKeIMCDKFK)CHlefuaTb

TakK

if a.keys() == b.keys(): ... N aHanorn4Ho angd

.items().
BosBpallaemMble 06bEKTbI NOSTHOCTLIO

COBMECTUMbI

ng?ngg9§%SMfgzeg$ﬁeys()

list(d.items()) == list(zip(d.keys(), d.values()))



